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Zadatak 13. Točka C(1, 7) vrh je trokuta ABC , točka A1(3, 3) polovište je stranice BC , a
T(1, 1) težište je trokuta. Izračunaj površinu tog trokuta.

Rješenje.

C(1, 7)
A1(3, 3)
T(1, 1)

xA1 =
xB + xC

2
/ · 3 yA1 =

yB + yC

2
= 3/ · 2

xB + xC = 6 yB + yC = 6
xB + 1 = 6 =⇒ xB = 5 yB + 7 = 6 =⇒ yB = −1
B(5,−1)

xT =
xA + xB + xC

3
= 1/ · 3 yT =

yA + yB + yC

3
= 1/ · 3

xA + 5 + 1 = 3 =⇒ xA = −3 yA + (−1) + 7 = 3 =⇒ yA = −3
A(−3,−3)

P�ABC =
1
2
[x1(y2 − y3) + x2(y3 − y1) + x3(y1 − y2)]

=
1
2
[−3(−1 − 7) + 5(7 + 3) + 1(−3 + 1)]

=
1
2
[24 + 50 − 2]

=
1
2
· 72 = 36
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